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1.Dxf7+! Txf7 2.Td8+ Tf8 3.Tdxf8#

Was kann Weil3 am Zuge nun tun?
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Wie geht es fur Schwarz am Zuge
weiter?

1...5g3+! 2.hxg3 Sf5! 3.exf5 Dg5
4.Sf1 Dh6+ 5.Sh2 fxg3

0-1

. | Janowski
B Rosenberg
Klaipeda
[Husemann,D]

1998

(Diagramm)

Wie geht es fir Schwarz am Zuge nun
weiter?

1..Df2+ 2.Kg4 f5+! 3.exf6 Dg2+
4.Kh4 g5+ 5.fxg5+ Dxg5#

0-1
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[Husemann,D]

l.e4 d5 2.exd5 Dxd5 3.Sc3 Dab
4.5f3 Lg4 5.h3 Lh5 6.d4 Sf6 7.Ld2
Sbd7 8.Lc4 e6 9.Sd5 Lxf3 10.Dxf3
Da4

(Diagramm)
Weil3 am Zuge.
11.Sxc7+ Ke7 12.b3 Dc6
1-0
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